Risolvere i seguenti sistemi lineari:

20 +by+42=3
r+2y—z=2

Risposta: (44 13z,—1—62,z)

3z+3y=0

{x+y+z:1
z+2y=0

Risposta: (0,0,1)
r+3y+4z=3
r+4dy+z=2

Risposta: (6 —13z,—1+3z,z2)
3r+y=1
{x—l—2y =0
4+ 8y =0
Risposta: (2/5,—1/5)

r—y—z=1
—2z+3y+5z=4
Risposta: (7 —2z,6 —3z,2)

dor — 32 =4

{x+5y—2z:2
r—3y=1

Risposta: nessuna soluzione
—2x4+y+4z=3

{5x—2y—z:0

Risposta: (6 — 72,15 —18z,2)

r—3z=1

{31:—}—21/—222
—4r—-3y=1

Risposta: nessuna soluzione

r—y+z=0
—r+2y+3z2=2

Risposta: (2—5z,2—4z,2)

r—3z=1

{3:6—1—37;—2:2
—4dr—3y=1

Risposta: (—2,7/3,—1)



{x4y+z:0

—r+y=2
z—8 z—2
Ri ta:
isposta : ( 33 ,2)
3x+y—2z=0
{$—2z:1
-2z +4z=-2

Risposta: (14 2z,—3 —5z,2)

20 —y =0
—3r+y+z=2

Risposta: (z—2,2z —4,2)



